



The Madison Club

11/20/2023 09:00 AM | Travel & Install Event PO:

1

11/21/2023 08:00 AM | Touch Ups

11/21/2023 11:00 PM | Change Over / Install Palm Springs

Event 2

11/22/2023 11:00 PM | Change Over / Install

Event 3

11/23/2023 08:00 AM | Crew OFF - Drive

Time

11/24/2023 08:00 AM | Change Over / Install

Event 4

11/25/2023 07:00 AM | Change / Install

Event 5

11/25/2023 11:00 PM | Strike Event 5

11/26/2023 11:00 AM | Travel to LA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

	Qtty	Price		Total
November 21st				
Pendant Lamp - Casablanca - Metal Star Large Black Ruching 18"W X 18"H - 25 Watts	4	\$150.00	Т	\$600.00
Pendant Lamp - Casablanca - Metal Star Medium Black Ruching 12"W x 12"H - 25 Watts	8	\$100.00	Т	\$800.00
Chandeliers - Berlin - Diamond Large Black Ruching 40"D x 40"h - 110lb - 600 Watts	3	\$600.00	Т	\$1,800.00
Stage Front - Santa Fe - High Dark Wood modified to fit a 20'W stage 5'9"W x 24"	3	\$350.00	T	\$1,050.00
Pasadena Straight Banquette Ivory 6'L 6'W x 39"L x 30"H	15	\$350.00	Т	\$5,250.00
Curved Alcoves Barbacks w. Shelves - Rattan Wallpaper (outer) Client to provde artwork Decal application in alcoves (removable per night) 22'W x 18"L x 10'H	1	\$6,500.00	Т	\$6,500.00
Alcove Inserts - Wallpaper Design (3pcs) Teal Decal design (image provided by client)	1	\$0.00	Т	\$0.00
Santa Fe Bar - Reclaimed Wood w. Cane Backing Insert Natural Wood Frame with Thatching Cane Backing (2) 8'L Center AND (2) Curved Ends (1) 6'L Center AND (2) Curved Ends 159"W x 135"L x 46"H	1	\$3,500.00	Т	\$3,500.00
	Black Ruching 18"W X 18"H - 25 Watts Pendant Lamp - Casablanca - Metal Star Medium Black Ruching 12"W x 12"H - 25 Watts Chandeliers - Berlin - Diamond Large Black Ruching 40"D x 40"h - 110lb - 600 Watts Stage Front - Santa Fe - High Dark Wood modified to fit a 20'W stage 5'9"W x 24" Pasadena Straight Banquette Ivory 6'L 6'W x 39"L x 30"H Curved Alcoves Barbacks w. Shelves - Rattan Wallpaper (outer) Client to provde artwork Decal application in alcoves (removable per night) 22'W x 18"L x 10'H Alcove Inserts - Wallpaper Design (3pcs) Teal Decal design (image provided by client) Santa Fe Bar - Reclaimed Wood w. Cane Backing Insert Natural Wood Frame with Thatching Cane Backing (2) 8'L Center AND (2) Curved Ends (1) 6'L Center AND (2) Curved Ends (1) 6'L Center AND (2) Curved Ends	Pendant Lamp - Casablanca - Metal Star Large Black Ruching 18"W X 18"H - 25 Watts Pendant Lamp - Casablanca - Metal Star Medium Black Ruching 12"W x 12"H - 25 Watts Chandeliers - Berlin - Diamond Large Black Ruching 40"D x 40"h - 110lb - 600 Watts Stage Front - Santa Fe - High Dark Wood modified to fit a 20"W stage 5'9"W x 24" Pasadena Straight Banquette Ivory 6'L 6'W x 39"L x 30"H Curved Alcoves Barbacks w. Shelves - Rattan Wallpaper (outer) Client to provde artwork Decal application in alcoves (removable per night) 22"W x 18"L x 10"H Alcove Inserts - Wallpaper Design (3pcs) Teal Decal design (image provided by client) Santa Fe Bar - Reclaimed Wood w. Cane Backing Insert Natural Wood Frame with Thatching Cane Backing (2) 8"L Center AND (2) Curved Ends (1) 6"L Center AND (2) Curved Ends (1) 6"L Center AND (2) Curved Ends	Pendant Lamp - Casablanca - Metal Star Large	Pendant Lamp - Casablanca - Metal Star Large 4 \$150.00 T Black Ruching 18"W X 18"H - 25 Watts Pendant Lamp - Casablanca - Metal Star Medium 8 \$100.00 T Black Ruching 12"W x 12"H - 25 Watts Chandeliers - Berlin - Diamond Large 3 \$600.00 T Black Ruching 40"D x 40"h - 110lb - 600 Watts Stage Front - Santa Fe - High Dark Wood 3 \$350.00 T modified to fit a 20"W stage 59"W x 24" Pasadena Straight Banquette Ivory 6'L 15 \$350.00 T 6'W x 39"L x 30"H Curved Alcoves Barbacks w. Shelves - Rattan Wallpaper 1 \$6,500.00 T Curved Alcoves Barbacks w. Shelves - Rattan Wallpaper 1 \$6,500.00 T Curved Alcoves Barbacks w. Shelves - Rattan Wallpaper 1 \$0,500.00 T Alcove Inserts - Wallpaper Design 1 \$0.00 T Santa Fe Bar - Reclaimed Wood w. Cane Backing Insert 1 \$3,500.00 T Natural Wood Frame with Thatching Cane Backing (2) 81. Center AND (2) Curved Ends (1) 61. Center AND (2) Curved Ends

Shipping Address:

Madison Club

scription		Qtty	Price		Total
ì	Sconces Buenos Aires Gold & White for the barback panels 6"W x 20"H - 75 Watts	4	\$150.00	Т	\$600.0
	Area Rugs - Distressed Flower Blush 8'W x 10'H	2	\$175.00	T	\$350.0
Age Called the Called State Cal	-	Total Tuesday Ev	ent, November 2	1st	\$20,450.0
ednesday Ev	ent, November 22nd				
	REUSED: Santa Fe Stage Front - Dark Wood	1	\$0.00	Т	\$0.0
	REUSED: Sconces Buenos Aires Gold & White	4	\$0.00	Т	\$0.0
	REUSED: Straight Banquettes - Ivory	15	\$0.00	Т	\$0.0
	REUSED: Santa Fe Bar	1	\$0.00	Т	\$0.0
	REUSED: Alcove Barbacks	1	\$0.00	Т	\$0.0
	NEW Alcove Inserts Wallpaper Design (3pcs) Asian Red Fan Design Decal design (image provided by client)	1	\$1,450.00	Т	\$1,450.0
	Paper Lantern - Round w. Asian Design 30"D Black Ruching 30"	14	\$35.00	T	\$490.0
,	Pendant Lamp - Casablanca Brass 03 Black Ruching 12"W x 12"D x 16"H - 3lb - 60 Watts	4	\$125.00	T	\$500.0
	Pendant Lamp - Casablanca - Brass 01 Black Ruching 9"W x 9"H - 2lb - 60 Watts	3	\$100.00	T	\$300.0
	Chandeliers - Amsterdam - Geometrical Sphere 3'D Black Ruching 3'D - 13Lb - 1Amp	3	\$550.00	Т	\$1,650.0
•	Shelves - Luna Painted Black black semi gloss 19"W x 72"L x 91"H - Color Upon Request	1	\$300.00	T	\$300.0
	Area Rugs - Geometrical Yellow & Red	1	\$175.00	T	\$175.0
	Area Rugs - Geometrical Orange 9'W x 12'H	1	\$175.00	T	\$175.0
		I Wednesday Eve			\$5,040.0

Description		Qtty	Price		Total
	REUSED: Santa Fe Stage Front - Dark Wood	1	\$0.00	Т	\$0.00
	REUSED: Sconces Buenos Aires Gold & White	4	\$0.00	T	\$0.00
	REUSED: Straight Banquettes Ivory	15	\$0.00	Т	\$0.00
	REUSED: Santa Fe Bar	1	\$0.00	Т	\$0.00
	REUSED: Alcove Barbacks	1	\$0.00	Т	\$0.00
	NEW Alcove Inserts - Wallpaper Design (3pcs) Plum Decal design (image provided by client)	1	\$1,450.00	Т	\$1,450.00
	Chandeliers - Santa Fe - Large Iron Round dark brown rustic as shown in picture Black Ruching 72"W x 21"H - 90lb - 250 Watts	5	\$650.00	Т	\$3,250.00
	Chandeliers - Santa Fe - Small Iron Round dark brown rustic as shown in picture Black Ruching 36"W x 21"H - 45lb - 150 Watts	4	\$500.00	Т	\$2,000.00
	Panels - Tahoe - Wood Rounds Stage backdrop paneling 10'W x 10'H	1	\$650.00	Т	\$650.00
		Total Thursday Ev	ent, November 2	3rd	\$7,350.00
riday Event, No	ovember 24th				
	REUSED: Santa Fe Stage Front - Dark Wood	1	\$0.00	Т	\$0.00
	REUSED: Sconces Buenos Aires Gold & White	4	\$0.00	Т	\$0.00
	REUSED: Straight Banquettes Ivory	15	\$0.00	Т	\$0.00
	REUSED: Santa Fe Bar	1	\$0.00	Т	\$0.00
	REUSED: Alcove Barbacks	1	\$0.00	T	\$0.00
	NEW Alcove Inserts Wallpaper Design (3pcs) Blue Ombre Design Decal design (image provided by client	1	\$1,450.00	Т	\$1,450.00
	Pasadena Straight Banquette Ivory 6'L 6'W x 39"L x 30"H	1	\$350.00	Т	\$350.00
	Chandeliers - Moscow Rectangular - Large Black ruching 8"W x 53"L x 97"H - 50lb	8	\$600.00	Т	\$4,800.00
8 AAS	Chandeliers - Dubai Glass Black ruching	3	\$600.00	Т	\$1,800.00

Description		Qtty	Price		Total
	Chandeliers - Buenos Aires - Small Black ruching 40" W x 6'H - 9lb - 150 Watts	4	\$800.00	Т	\$3,200.00
	Round Booth Channeled Champagne Velvet (2pcs) 6â® ® 10"W3â® ® 2"L3â® ® 3"H	2	\$600.00	Т	\$1,200.00
	Top Hats - Monaco Ivory Velvet 8' Diam	1	\$650.00	T	\$650.00
	Panels - Royal Blue Tufted w. Fleur-de-lys Buttons stage backdrop 4â® ® W 12â® BH	3	\$450.00	T	\$1,350.00
		Total Friday Ev	ent, November 2	4th	\$14,800.00
Saturday Event,	November 25th				
	REUSED: Sconces Buenos Aires Gold & White	4	\$0.00	T	\$0.00
	REUSED: Straight Banquettes Ivory	16	\$0.00	T	\$0.00
	REUSED: Santa Fe Bar	1	\$0.00	Т	\$0.00
	REUSED: Alcove Barbacks	1	\$0.00	Т	\$0.00
	NEW Alcove Inserts Wall Paper Design (3pcs) Lime Green Design Decal design (image provided by client	1	\$1,450.00	T	\$1,450.00
<u> </u>	Chandeliers - Sofia - Black Large 34"W X 40"H - 45lb - 450 Watts	2	\$350.00	T	\$700.00
	Chandeliers - Sofia - Pink 26"W x 38"H - 22lb - 175 Watts	2	\$300.00	T	\$600.00
	Chandeliers - Sofia - Purple 26"W x 38"H - 22lb - 175 Watts	2	\$300.00	T	\$600.00
	Chandeliers - Sofia - Red 26"W x 38"H - 22lb - 175 Watts	2	\$300.00	T	\$600.00
	Chandelier Hook (12'H) and Box Base Emerald Green Ruching and matching box base 63" W x 152"H - Height from Hook 122"	8	\$300.00	T	\$2,400.00
	Washington Rose Gold Dining Table - Mirror TOp 8'W x 4'L x 30"h	21	\$350.00	T	\$7,350.00

Description		Qtty	Price		Total
	Dining Chairs - Washington Rose Gold (82) Black Velvet Cushion +(2) extra (92) with off white Cushion+ (2) extra 20"W x 22"L x 37"H - Back & Seat Cushion Cover Color Upon Request	178	\$22.00	Т	\$3,916.00
	Dining Chairs - Qatar - Infinity Rose Gold off white cushion 18"W x 22"L x 40"H - Seat Cushion Cover Color Upon Request	240	\$22.00	Т	\$5,280.00
	SUBRENTAL: Oversized Playing Cards	1	\$0.00	Т	\$0.00
	SUBRENTAL: 3d Hedge Key Arch w. Diamond Backing	1	\$0.00	Т	\$0.00
	SUBRENTAL: Cheshire Cat w. Tree Stump	1	\$0.00	Т	\$0.00
	SUBRENTAL: Checker Platform Floor	2	\$0.00	Т	\$0.00
	SUBRENTAL: 3D Diamond Key Arch	1	\$0.00	Т	\$0.00
	Total	Saturday Ev	ent, November 2	25th	\$22,896.00
Services					
	Installers: Travel to PS and Install Nov 20th Monday	6	\$650.00		\$3,900.00
	Installers: Touch Ups for Event 1 Nov 21st Tuesday AM	6	\$350.00		\$2,100.00
	Installers: Strike Event 1 & Install Event 2 Nov 21st Tuesday PM	6	\$550.00		\$3,300.00
	Installers: Strike Event 2 & Install Event 3 Nov 22nd Wednesday PM	6	\$550.00		\$3,300.00
	Installers: Travel Day Nov 23rd Thursday AM (Holiday)	6	\$650.00		\$3,900.00
	Installers: Travel & Install Event 4 Nov 24th Friday AM	6	\$650.00		\$3,900.00
	Installers: Strike Event 4 & Install Event 5 Nov 24th Friday PM	6	\$550.00		\$3,300.00
	Installers: Strike Event 5 Nov 25th Saturday PM	6	\$550.00		\$3,300.00
	Installers: Travel Day Nov 26th Sunday Afternoon	6	\$350.00		\$2,100.00
	Installers: Additional Day Drivers price approx until schedule confirmed	5	\$500.00		\$2,500.00
	Trucking: 24'L Round Trip Travel - Trucks for the entire event	9	\$650.00		\$5,850.00
	Trucking: Fuel Surcharge	9	\$85.00		\$765.00
	Prop Rental: Will Call Pick Up & Return	1	\$650.00		\$650.00
	Accommodations: Hotel Rooms for (5) Nights price approx until confirmed	3	\$1,750.00		\$5,250.00
	Accommodations: Per diem for (7)	6	\$483.00		\$2,898.00

Description	Qtty	Price	Total
Custom Artwork: Printed Decal Materials & Labor	1	\$750.00	\$750.00
Supplies: Onsite for (5) Days	1	\$2,250.00	\$2,250.00
Please make checks payable to Revelry, Inc.		Total Products:	\$70,536.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total La	bor/Services/Misc:	\$50,013.00
Please ready the contract and sign it	W	ear & Tear (3.00%):	\$2,116.08
•		Packing (3.00%):	\$2,116.08
Notes		Taxes:	\$6,366.08
		Discounts:	(\$3,524.60)
		Total:	\$127,622.64
		Payments:	(\$0.00)
		Balance:	\$127,622.64